
Opérations avec deux fractions mixtes (G)

Nom: Date: Note:

Calculez chaque résultat.

1. 513 + 223 =

2. 527 + 217 =

3. 579 + 249 =

4. 529 × 123 =

5. 312 ÷ 527 =

6. 579 × 1 512 =

7. 1 913 × 514 =

8. 312 ÷ 512 =

9. 513 − 413 =

10. 545 − 345 =
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Opérations avec deux fractions mixtes (G) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 513 + 223 = 16
3 + 8

3 = 24
3 = 8

1 = 8

2. 527 + 217 = 37
7 + 15

7 = 52
7 = 737

3. 579 + 249 = 52
9 + 22

9 = 74
9 = 829

4. 529 × 123 = 47
9 × 5

3 = 235
27 = 81927

5. 312 ÷ 527 = 7
2 ÷

37
7 = 7

2 ×
7
37 = 49

74

6. 579 × 1 512 = 52
9 × 17

12 = 884
108 = 221

27 = 8 527

7. 1 913 × 514 = 22
13 ×

21
4 = 462

52 = 231
26 = 82326

8. 312 ÷ 512 = 7
2 ÷

11
2 = 7

2 ×
2
11 = 14

22 = 7
11

9. 513 − 413 = 16
3 − 13

3 = 3
3 = 1

10. 545 − 345 = 29
5 − 19

5 = 10
5 = 2

1 = 2
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